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Excerpts from

Sums of floors and ceilings of
consecutive logarithms

http://csc.csudh.edu/suchenek/CSC401/Slides/Knuth-Suchen
ek formulas_sums_of floors ceilings logs.pdf


http://csc.csudh.edu/suchenek/CSC401/Slides/Knuth-Suchenek_formulas_sums_of_floors_ceilings_logs.pdf
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Theorem 1.4 For every x > 0,
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Theorem 2.1 For every natural number n > 1,

I MNeil =nllen] —2Men! 1 1.
> Ngil =nllgn]

1=1
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= n[lg(n+1)] — 2/l8+D1 L1 —

—n|lgn| -2+l 441 =

=n(lgn+¢e(n)) —n+ 1.
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Theorem 1.3 For every x > 0,

rllgz| — 208t = 2(lgx + a(z) — 2),
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Theorem 1.5 For every x,

e(r) = a(x),
where € 1s given by:
en)=1+60—-2" and 6 = [Ig ] — 1g =,
and o 18 given by:

alz)=2—p—2"%and p=lg x — |lg z|.
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Corollary 1.6 For every x > 0,

r|lgx| — 2t — p(lgx + e(x) — 2),
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